[image: ]Surface Development (net)








[image: ]The surface development (net) is a ‘star shape’. On the grid below use the key to complete a full size surface development (net) of the pyramid shaped container. Your surface development (net) should be clearly drawn so that someone else could assemble the container. Do not include any surface decoration. Add the window opening to the front panel of your drawing. The window size is: 30mm perpendicular height and 30mm wide at the base. Complete the drawing of the locking ring for the top of the pyramid.

















Below is an isometric diagram of a length of hexagonal bar with a 10mm radius hole through it. 
[image: ]






The grid below shows an incomplete orthographic drawing of the box. Complete the orthographic drawing of the box by adding the missing lines. Include hidden detail lines. The dimensions given for one side use British Standard conventions. Add the following dimensions to the drawing:  the length of the hexagonal bar  the height of the hexagonal bar  the size of the hole through the hexagonal bar.
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[bookmark: _GoBack][image: ][image: ]The diagram below shows an isometric and plan view of an end cap. Complete a sectional view of the end cap through points A-A. The thickness of the base is 15mm, the outer ring is 30mm and the inner tube is 45mmA
A
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In the space below draw an exploded sketc of e fy boat. It has been started for
you. Do notncude colour.
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‘This question is about packaging.

‘You are advised to spend about 15 minutes on this question.

Below is a pyramid shaped container for a cande.

) ‘The locking ring fits over the top of the
“— pyramid. It holds the four sides of the

pyramid together without glue

A

50mm perpendicular height
50mm wide at the base

4(a) () The surface development (net) is a ‘star shape’.

On the grid opposite use the key to complete a full size surface development (net) of
the pyramid shaped container. Your surface development (net) should be clearly drawn
S0 that someone else could assemble the container.
Do not include any surface decoration.

[6 marks]

4 () (ij) Add the window opening to the front panel of your drawing.
‘The window size is:

30mm perpendicular height
30mm wide at the base
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‘This question is about Orthographic Projection.
‘You are advised to spend about 15 minutes on this question.

6 Below is a box with a clear plastic window used to package chocolates

‘The radius of the circular window in
the middle of the top face is 10 mm

‘The grid opposite shows an incomplete orthographic drawing of the box
6(a)  Complete the orthographic drawing of the box by adding the missing lines.
[6 marks]
Do not include hidden detail lines
6(b)  The dimensions given for one side use British Standard conventions
[6 marks]
Add the following dimensions to the drawing:
« the length of the chocolate box

« the height of the chocolate box
« the size of the circular window.
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